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POLYNOMIALS AND FACTORISATION

1.p(xz) = z + 2. Find p(1), p(2), p( — 1) and p( — 2). Which among

1,2, —1 and — 2becomes the 0 of p(x) ?

o Watch Video Solution

2.Find zero of the polynomialp(z) = 3z + 1

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hBAus0OxoNDF
https://dl.doubtnut.com/l/_WRhtdfoWzkwa

3. Find zero of the polynomial 2z — 1.

° Watch Video Solution

4. Verify whether 2 and 1 are zeros of the polynomial z*> — 3z + 2 or

not ?

° Watch Video Solution

5.1f 3 is a zero of the polynomial z? + 2z — a, then find a.

o Watch Video Solution

6. Divide 322 + = — 1byx + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_2sGarB37bqwl
https://dl.doubtnut.com/l/_yF7eOE98YOMM
https://dl.doubtnut.com/l/_J3AJLci9R05R
https://dl.doubtnut.com/l/_KUX4FOcRVM82
https://dl.doubtnut.com/l/_nCWOm1OWvp7L

7. Divide the polynomial 2z* — 423 — 3z — 1 by (x-1) and verify the

remainder with zero of the divisor.

° Watch Video Solution

8. Find the remainder when x> 4 1 divided by (z + 1)

° Watch Video Solution

9. Check whether (z — 2) is a factor of 2° — 22? — 5z + 4

o Watch Video Solution

10. Check whether the polynomial p(y) = 4y° + 49> —y—1 is a

multiple of (2y + 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_nCWOm1OWvp7L
https://dl.doubtnut.com/l/_ssAc2UGO0R8L
https://dl.doubtnut.com/l/_ETKVzPC6R7ey
https://dl.doubtnut.com/l/_v955LY8sRu5s

11. If the polynomials az® + 3z? — 13 and 2z% — 5z + a arfe divided

by (z — 2) leave the same remainder, find the value of a.

o Watch Video Solution

12. Examine whether z -+ 2 is a factor ofz® 4+ 222 + 3z + 6

° Watch Video Solution

13. Examine whether z + 2 is a factor ofz® + 222 + 3z + 6

° Watch Video Solution

14. Show that (z — 1) is a factor of z!® — 1 and also of z'* — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_dDlhz5NdM1sl
https://dl.doubtnut.com/l/_zfqicH4wEgnk
https://dl.doubtnut.com/l/_FBoFklcLEBkr
https://dl.doubtnut.com/l/_7GgrDTh4SLhM
https://dl.doubtnut.com/l/_pSAlTPg5qXUs

15. Factorise 3z% + 11z + 6

° Watch Video Solution

16. Verify whether 2z* — 623 + 322 +3z —2 is divisible by
z?> — 3z + 2ornot ?

How can you verify using Factor Theorem ?

o Watch Video Solution

17. Factorise z° — 2322 + 1422 — 120

o Watch Video Solution

18. Fractorise
(i) z® + 5z + 4

(i) 922 — 25


https://dl.doubtnut.com/l/_pSAlTPg5qXUs
https://dl.doubtnut.com/l/_xa0fqTv0N5Pf
https://dl.doubtnut.com/l/_wwXBVUrPF9Ze
https://dl.doubtnut.com/l/_ywzFNOYi3hS6

(i) 25a® + 40ab + 16b°

(iv) 4922 — 1122y + 64>

o Watch Video Solution

19.Find (2a + 3b + 5)7 using identity.

° Watch Video Solution

20. Find the product of (52 — y + 2)(bz — y + 2)

o Watch Video Solution

21. Factorise 422 + 9y? + 2522 — 12zy — 30yz + 20zz

o View Text Solution



https://dl.doubtnut.com/l/_ywzFNOYi3hS6
https://dl.doubtnut.com/l/_DsARpXLDqxoA
https://dl.doubtnut.com/l/_fTGwazvQyFuE
https://dl.doubtnut.com/l/_hy7ZzMQlq7c4

22. Write the following cubes in the expended from
(i) (2a + 3b)*

(ii) (2p — 5)°

o Watch Video Solution

23. Evaluate each of the following using suitable identities
(i)(103)*

(ii)(99)°

° Watch Video Solution

24. Factorise 8z> + 362y + bdxy® + 27y°.

° Watch Video Solution



https://dl.doubtnut.com/l/_Npl7AguHKsnX
https://dl.doubtnut.com/l/_omEsFsdYjYH9
https://dl.doubtnut.com/l/_Wd3dEeHVCPA2

25.Find the product

(2a 4+ b+ c)(4a® + b° + ¢ — 2ab — bc — 2ca)

° Watch Video Solution

26. Fractorise a® — 8b° — 64c® — 24abc

° Watch Video Solution

27. Give possible values for length and breadth of the rectangle whose

areais 222 + 9z — b.

o Watch Video Solution



https://dl.doubtnut.com/l/_h3EBcFlQMrlH
https://dl.doubtnut.com/l/_Qr9De2YlQRKI
https://dl.doubtnut.com/l/_ZRaId1FxFyAy

1. Find the degree of each of the polynomials given below
(i)z° —z* +3

(i)z® +z — 5

(iii) 5

(iv) 32° + 6y° — 7

(v) 4 -y

(vi) 5t — /3

° Watch Video Solution

2. Which of the following expressions are polynomials in one variable

and which are not ? Give reasons for you answer.

(i)3z2 — 2z +5
(i) 2 + /2
(i) p> — 3p + q

2
(iv)y + g(y # 0)


https://dl.doubtnut.com/l/_fhOM8ENqaCbd
https://dl.doubtnut.com/l/_I2tXcB8OePXR

(V) 5/ + z4/5

(VI) .’L'lOO + y100

o Watch Video Solution

3. Write the coefficient of 3 in each of the following
(i)z* +z + 1

(i) 2 — 2° + 2°

(iii)/22% + 5

(iv) 22° + 5

W) =23 +

2 XL Xr
2

(vi) — gm?*

(vii) 222 + 5

(viii) 4

o Watch Video Solution



https://dl.doubtnut.com/l/_I2tXcB8OePXR
https://dl.doubtnut.com/l/_p4YXS0PUb2qL

4. Classify the following as linear, quadratic and cubic polynomials

(i)5z> +2 — 7
(i) z — 2°
(i) 2> + = + 4
(iv)z — 1

(v) 3p

(vi) 72

° Watch Video Solution

5. Write whether the following statements are True or False. Justify
your answer

(i) A binomial has two terms

(i) Every polynomial is a binomial

(iii) A binomial may have degree 3

(iv) Degree of zero polynomial is zero


https://dl.doubtnut.com/l/_XW9WbMqfODXU
https://dl.doubtnut.com/l/_ZSu0pP6sFJWX

(v) The degree of 2% + 2zy + 3 is 2

(vi) 7% is a monomial.

o Watch Video Solution

6. Give one example each of a monomial and trinomial of degree 10.

o Watch Video Solution

1.Find the value of the polynomial 4z — 5z + 3, at
()z=0

(i = —1

YIS

(iii) =

(iv)x =

o Watch Video Solution



https://dl.doubtnut.com/l/_ZSu0pP6sFJWX
https://dl.doubtnut.com/l/_YS5iYqginfqc
https://dl.doubtnut.com/l/_LtMlRPzlEE6S

2.Find p(0)p, (1) and p(2) for each of the following polynomials.

(iyp(z) =2 -z +1
(ip(2) = 2°

(i) p(y) = 2+ y + 2" — °
(iv)p(t) = (t —1)(t +1)

v) p(z) = 2% — 32 + 2

° Watch Video Solution

3. Verify whether the values of x given in each case are the zeroes of
the polynomial or not ?

ip(z) =2+ 1,z = —

I

(i) p(z) = 52 — m, 2 = —

(idp(z) =2 — 1L,z = +1

(ivV)p(z) = (z — )(z+2),z= —1, —2
Wp(y) =y’ y =0
(vi)p(z) =az + b,z = — b

a


https://dl.doubtnut.com/l/_DhjjAd9Bw3yb
https://dl.doubtnut.com/l/_lTgWjtIB642j

2

(vii) f(z) = 32> — 1,z = — —, =

1
57

|<|'_‘
| LG

(viii) f(z) =2z — 1,z =

o Watch Video Solution

4. Find the zero of the polynomial in each of the following cases.
(i) f(z) =z + 2

(i) f(x) =z — 2

(i) f(z) = 2 + 3

(iv) f(z) = 2z — 3

(vi) f(z) = pz,p # 0

(vii) f(z) = px + g, p # Opq are real numbers.

° Watch Video Solution

5.1f 2 is a zero of the polynomial p(z) = 2z® — 3z + 7a, then find the

value of a.


https://dl.doubtnut.com/l/_lTgWjtIB642j
https://dl.doubtnut.com/l/_Fiu5Zf0PnOwu
https://dl.doubtnut.com/l/_2Y48RH5bO7HI

° Watch Video Solution

6. If O and 1 are the zeroes of the polynomial

f(z) = 22® — 32> 4 azx + b, then find the values of a and b.

o Watch Video Solution

1. Find the remainder when z® 4 32® + 3z 4 1 is divided by the

following Linear polynomials:

iz +1
.. 1
(i)x — 3
(iii) x
(ivye +m

(V)5 + 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_2Y48RH5bO7HI
https://dl.doubtnut.com/l/_EtEmJL0M1nHa
https://dl.doubtnut.com/l/_YL5fhOXXRWCs

2.Find the remainder when 2% — pz? + 62 — pis divided byx — p.

o Watch Video Solution

3. Find the remainder when 222 — 3z + 5 is divided 22 — 3. Does it

exactly divided the polynomial ? State reason.

° Watch Video Solution

2
4.Find the remainder when 923 — 322 4+ = — 5 is divided by = — 3

o Watch Video Solution

5. If the polynomials 2z° 4 a2® + 3z — 5 and 2° + 2° — 4z + a

leave the same remainder when divided by x — 2, find te value of a.

.y I


https://dl.doubtnut.com/l/_YL5fhOXXRWCs
https://dl.doubtnut.com/l/_TGVaUy92GD5U
https://dl.doubtnut.com/l/_VoUX60yMNUk6
https://dl.doubtnut.com/l/_p84Nd6oGruzz
https://dl.doubtnut.com/l/_skDA4CE2ZXCM

| ¥ Watch Video sSolution |

6. If the polynomials z* + az® + 5 and z® — 22> + a are divided by

(z + 2) leave the same remainder. Find the value of a.

° Watch Video Solution

7. Find the remainder when f(z) = z* —32% +4 is divided by

g(z) = & — 2 and verify the result by actual division .

o Watch Video Solution

8.Find the remainder when p(z) = z* — 62® + 142 — 3 is divided b y

g(x) =1 — 2z and verify the result by long division.

o Watch Video Solution



https://dl.doubtnut.com/l/_skDA4CE2ZXCM
https://dl.doubtnut.com/l/_82bh6Jf9PcND
https://dl.doubtnut.com/l/_sylrMM1xPhRJ
https://dl.doubtnut.com/l/_HvZS4vFn9x8Y

9.When a polynomial 223 4 32> + az + b is divided by (z — 2) leaves

remainder 2, and (z + 2) leaves remainder -2. Find a and b.

o Watch Video Solution

1. Determine which of the following polynomials has (z + 1) as a
factor.

Nz —z2>—z+1

(iz' —z® + 22—z + 1

(iii) z* + 22° + 22% + = + 1

(ivyz® —z® — (3— 3z + /3

o Watch Video Solution



https://dl.doubtnut.com/l/_aCTnEAJu0WVJ
https://dl.doubtnut.com/l/_w1l2E5qTdPJq

2. Use the Factor Theorem to determine whether g(x) is factor of f(x) in
each of the following cases :

f(z) =5z° + 2> — bz — 1,g9(x) =2 + 1

o Watch Video Solution

3. Show that (z—2),(z+3) and (x —4) are factors of

3 — 322 — 10z + 24.

° Watch Video Solution

1
4.If both (z — 2) and (3: - 5) are fractors of pz? + 5z + r, then

show that p=r.

° Watch Video Solution



https://dl.doubtnut.com/l/_iUTvGDCRAUcc
https://dl.doubtnut.com/l/_80zpVm0wOHEw
https://dl.doubtnut.com/l/_vJojEKm7JkGI

5. If (5132 — 1) is a factor of az? + bz® + ca® + dz + e, then show

thata +c+e=b+d =0

o Watch Video Solution

6. Factorise (i)z? — 2z — z + 2
(i)z? — 322 — 92 — 5
(i) 22 + 1322 + 32z + 20

v)y* +y* —y—1

° Watch Video Solution

7. If ax® + bx + ¢ and bz? + az + ¢ have a common factor z + 1

then showthatc = 0 and a = b.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hv5C7ZUJ8fKX
https://dl.doubtnut.com/l/_FrIQAiw4H3JW
https://dl.doubtnut.com/l/_sT1bKQFjklQe

8. If x> —x — 6 and z* + 3z — 18 have a common factor (z — a)

then find the value of a.

o Watch Video Solution

9.1f (y — 3) is a factor of y> — 2y> — 9y + 18 then find the other two

factors.

o Watch Video Solution

1. Use suitable idntities to find the following products

(i) (z +5)(z +2)
(i) (z — 5)(z — 5)

(i) (3¢ + 2)(3z — 2)


https://dl.doubtnut.com/l/_a4gz4Lt1ZQqv
https://dl.doubtnut.com/l/_8fRgROZ5wkcM
https://dl.doubtnut.com/l/_Y00kgWNGiWSv

o Watch Video Solution

2. Evaluate the following products without actual multiplication.

(i) 101 x 99

o Watch Video Solution

3. Factorise the following using appropriate identities.

(i) 1622 + 24y + 9y>

(i) 4y* — 4y + 1
2

(iii) 4z2 — :'2’—5

(iv) 18a® — 50

V)22 + 5z +6

(vi) 3p® — 24p + 36

| nlll,l,l,\",l,,‘-,l n®


https://dl.doubtnut.com/l/_Y00kgWNGiWSv
https://dl.doubtnut.com/l/_xT7dRxxTIWlG
https://dl.doubtnut.com/l/_8QCyhhOc4C0m
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4. Expand each of the following, using suitable identities
() (z + 2y + 4z)2
(i) (2a — 3b)°
(iii) ( — 2a 4 5b — 3¢)”
2
) a b
(iv) (Z 5 + 1>

v (p+1)°

5 \ %
(vi) (96 - gy)

° Watch Video Solution

5.Fractorise

(i) z* + 5z + 4

(i) 92% — 25

(iii) 25a% + 40ab + 16b°

(iv) 4922 — 112zy + 64y>

.


https://dl.doubtnut.com/l/_8QCyhhOc4C0m
https://dl.doubtnut.com/l/_cpxJcnWkfVeK
https://dl.doubtnut.com/l/_RDrpaRMEKyrG

| ¥ Watch Video sSolution

6.1fa +b+c =29 and ab+ bc + ca = 26, then find a® + b% + .

° Watch Video Solution

7. Evaluate the following using suitable identites.(ii) (102) *(3)

o Watch Video Solution

8. Factorise each of the following
(1)8a® + b* + 12a%b + 6ab’
(i) 8a® — b* — 12a%b + 6ab?
(iii) 1 — 64a® — 12a + 48a*
6 1

(iv) 8p® — Ep2 +—p— —
5 25P " 195

o Watch Video Solution



https://dl.doubtnut.com/l/_RDrpaRMEKyrG
https://dl.doubtnut.com/l/_xb4Yzxg7l7Yo
https://dl.doubtnut.com/l/_dHQlxEnDLmHa
https://dl.doubtnut.com/l/_L68yLTatl44W
https://dl.doubtnut.com/l/_MUoxMglQPwat

9. Verify

)2 +3° = (z +9) (" — 2y + )

(i) 2 —y* = (2 — ) (&* + 2y +¥)

using some non-zone positive integers and check by actual

multiplication. Can you call these as identities ?

o Watch Video Solution

10. Faactorise
(i) 27a® + 64b°

(i) 343y3 — 1000 using the above results.

o Watch Video Solution

11. Factorise 27z° + 3 4 2° — 9zyz using identitiy.

° Watch Video Solution



https://dl.doubtnut.com/l/_MUoxMglQPwat
https://dl.doubtnut.com/l/_HSvjocVTXi3M
https://dl.doubtnut.com/l/_I0mea8ly2iGP
https://dl.doubtnut.com/l/_tjVoskUUiHAG

12. Verify that

1
o +yt 42— Boye = S(a+y+2)|(@ =9’ + (y—2) + (- )]

o Watch Video Solution

13.1f z +y + z = Oshow that > + 3° + 2° = 3zyz.

o Watch Video Solution

14. Without actual calculating the cubes, find the vlaue of each of the
following

M) (—10)° +(7)* + (3)°

(i) (28)° + (= 15)° + ( —13)°

w(2) - (3) - ()

(iv) (0.2)° — (0.3)* + (0.1)*

o Watch Video Solution



https://dl.doubtnut.com/l/_tjVoskUUiHAG
https://dl.doubtnut.com/l/_oPXqvWus8L4x
https://dl.doubtnut.com/l/_20RXKLw0yIWO

15. Gi ven possible expressions for the length and breadth of the
rectangle whose area is given by
(i) 4a® + 4a — 3

(i)25a — 35a + 12

o Watch Video Solution

16. What are the possible polynomial expressions for the dimensions
of the cuboids whose volumes are given below ?
(i) 3z° — 122

(ii)12y% + 8y — 20.

o Watch Video Solution

17. If2(a2 + bz) = (a + b)?, then showthata = b

o Watch Video Solution



https://dl.doubtnut.com/l/_QCBp8jTBszbA
https://dl.doubtnut.com/l/_F7WmeiaJ9vsg
https://dl.doubtnut.com/l/_gvVBpwCNdAhk

Think Discuss And Write

1. Which of the following expressions are polynomias ? Which are not?
Give reasons.
(i4z® + 5z — 2
(i) y* — 8
(iii)5
oo 3
(iv) 22"+ — — 5
x

(v) \/§$2 + 5y

1
(vi; + 1(z # 0)
(vii)\/z

(viii) 3 xyz

° Watch Video Solution

2. How many terms a cubic (degree 3) polynomial with one variable can

have ? Give examples.

| ° WAF_a_ L vt e~


https://dl.doubtnut.com/l/_QcR84Pu4NSc2
https://dl.doubtnut.com/l/_IuYz8GCA5LO3
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3.z% + 1 has no real zeroes. Why ?

o Watch Video Solution

4. Can you tell the number of zeroes of a polynomials of n' degree ?

° Watch Video Solution

1. Write two polynomials with variable 'x'

o Watch Video Solution

2. Write three polynomials with variable 'y’



https://dl.doubtnut.com/l/_IuYz8GCA5LO3
https://dl.doubtnut.com/l/_PdVVqj1oqz7L
https://dl.doubtnut.com/l/_ADDbaK9ISYre
https://dl.doubtnut.com/l/_okPS05v3HgOR
https://dl.doubtnut.com/l/_eWfCIRkmflsp

o Watch Video Solution

3.1s the polynomial 2z + 3zy + 5y in one variable ?

o Watch Video Solution

4. Write the formulae of area and volume of different solid shapes.

Find out the variables and constants in them.

o Watch Video Solution

5. Write the degree of each of the following polynomials

(i) 72> + 522 + 22 — 6

(i) 7 — z + 3>
(iii) 5p — /3
(iv) 2

(v) — 531:y2


https://dl.doubtnut.com/l/_eWfCIRkmflsp
https://dl.doubtnut.com/l/_Mba3hRjRDtce
https://dl.doubtnut.com/l/_pJ3scqWn2aQu
https://dl.doubtnut.com/l/_Y6uWoxRmbdnR

o Watch Video Solution

6. Write the coefficient of z? in each of the following br>
()15 — 3z + 222

(i) 1 — 2°

(iii) 72> — 3z + 5

(iv)v/22% + 5z — 1

o Watch Video Solution

7. Find the vaoue of each of the folllowing polynomials for the
indicated value of variables:

(i)p(z) = 42 — 3z + Tatz = 1

(i) q(y) = 24° — 4y + VIlaty = 1

(iii) 7(t) = 4t* 4 3> — t* + 6att = p,t € R

(iv) s(2) = 2° — latz = 1

) p(z) = 322 + 5z — Tatz = 1



https://dl.doubtnut.com/l/_Y6uWoxRmbdnR
https://dl.doubtnut.com/l/_TG5damNBhfWr
https://dl.doubtnut.com/l/_17vZIeR3XHP4

| @ Watch Video Solution

8. Divide 3y% + 2y% + y by 'y' and write division face

° Watch Video Solution

9. Divide 4p* + 2p + 2 by '2p' and write division fact.

o Watch Video Solution

10. Fractorise the following

(i) 622 + 19z + 15

o Watch Video Solution

11. Factors of 10m? — 31m — 132

| o Watch Video Solution


https://dl.doubtnut.com/l/_17vZIeR3XHP4
https://dl.doubtnut.com/l/_ukq407i7g0ms
https://dl.doubtnut.com/l/_wXZ7675UeEO8
https://dl.doubtnut.com/l/_j8lvXg0LaSAO
https://dl.doubtnut.com/l/_WF2ZG96afQwo

12. Factors of 1222 + 11z + 2

o Watch Video Solution

13. Find the following using appropriate identities
(i) (z + 5)(z + 5)
(i) (p — 3)(p + 3)
(i) (y — 1)(y — 1)
(iv) (t + 2)(t + 4)

(v) 102 x 98

° Watch Video Solution

14. Factorise the following using appropriate identities

(1)49a* + 70ab + 25b7


https://dl.doubtnut.com/l/_WF2ZG96afQwo
https://dl.doubtnut.com/l/_oGCENn9qvXqA
https://dl.doubtnut.com/l/_nQBkmN5o43DS
https://dl.doubtnut.com/l/_8zGO5Y1zmnDV

(it — 2t + 1

(iv)z? + 3z + 2

o Watch Video Solution

15. Write (p 4+ 2g + r)” in expanded from.

o Watch Video Solution

16. Expand (4z — 2y — 32)° using identity

o Watch Video Solution

17. Fractorise 4a® + b® + ¢® — 4ab + 2bc — 4ca using suitable identity.

o Watch Video Solution



https://dl.doubtnut.com/l/_8zGO5Y1zmnDV
https://dl.doubtnut.com/l/_n690B6qxsRJ9
https://dl.doubtnut.com/l/_gS1Q6aWSQrhK
https://dl.doubtnut.com/l/_Ue99qfz6JGTB
https://dl.doubtnut.com/l/_0rnou7v2gR5C

18. Expand (z + 1)3 using an identity

° Watch Video Solution

19. Compute (z — 1)3

° Watch Video Solution

20. Factorise a® — 3a’b + 3ab®> — b°

o Watch Video Solution

21. Find the product (a—b—c)(a®+ b+ c® —ab+bc— ca)

without actual multiplication.

° Watch Video Solution



https://dl.doubtnut.com/l/_0rnou7v2gR5C
https://dl.doubtnut.com/l/_Gf3Gb5GKe8an
https://dl.doubtnut.com/l/_X24oWYcZfrQR
https://dl.doubtnut.com/l/_1eULZOT1ZljW
https://dl.doubtnut.com/l/_vAsSMrAntA3Z

22. Fractorise 27a® + b® 4 8¢ — 18 — 18 abc using identity.

° Watch Video Solution

1. Write a polynomial with 2 terms in variable x.

o Watch Video Solution

2. How can you write a polynomial with 15 terms in variable p ?

° Watch Video Solution

3. Find zeroes of the following polynomals
(i) 22 — 3

(iz +5



https://dl.doubtnut.com/l/_vAsSMrAntA3Z
https://dl.doubtnut.com/l/_apnWSXwvDHiT
https://dl.doubtnut.com/l/_horFyoaYCAVM
https://dl.doubtnut.com/l/_W2mCexcXWNDP

| ° Watch Video Solution

4.Show that (z — 1) is a factor of " — 1.

° Watch Video Solution

5. Try to draw the geometrical figures for other identities.

(z+y)(z—y) =2 -y

o Watch Video Solution

6. How can you find (z — y)3 without actual multiplication?

Verify with actual multiplication.

o Watch Video Solution



https://dl.doubtnut.com/l/_W2mCexcXWNDP
https://dl.doubtnut.com/l/_GjLMPlMOcKyY
https://dl.doubtnut.com/l/_y8QAQOzPpHKk
https://dl.doubtnut.com/l/_ZqYG2MMHNi6M

